AN TFETISA A 7—/VARY BT®-FMA®-O

FACE MILL ARBOR (Type A) »r> 225 —2 V335 (#7vav) Thru-the-tool Coolant Available (Option)

| T

oCa

8 U

salas | g

2Cs,
=
2C4

B

,_
T

!
I
D
~oCT™
2Cs,
(MGt
il
0C4
r: W1
I
2C3
oD
oC1
2C5
] G1
A
oCa

48 K1

i

2C2
Wi
oD
oC1
2Cs
a:

CODE e CLAMP BOLT
BBT 2C4 ¢C5 H3 Ha
' .FMA22.225.035 | (&) () 2222535 | 40| — | — |18 — | 80 | 4 | M8 | 20|15 | 7 | 9 | 057
BT30 | N _
BBT30 FMA25.4 -035 4 200451 f 25.4 85 50 22 9.5 5 | Mi12 | 33|23 |10 | 12 0.2
| -FMA25.4 -045 10013 A 45 - | = — 0.85
: 1 —
-FMA25.4 -045 12710 240310 254 4 50 — 22— 95 | 5 M2 33 23 10 12 2
BT40 -105 |12712 | 240311 | 2 105 60 26
BBT40 -FMA31.75 -045 | — 240312 3175 1% 60| — 24 |30 6 | 127 | 7 w16 40 23 10 12 18
! 090 | & A 3 90 16 | 26
' FMA38.1 -060 12716 | 240314 381 |60 80| — |28 34 | 6 159 | 9 | M20 | 50 |27 | 14 |20 26
' -FMA25.4 -045| — - 1 45 - 3.9
; .090 |15700 | 270301 , | 254 9 50 | _ |~ 22| — | 95 | 5 | Mi2 | 33|23 |10 12 | 50
: 150 | (=) |270302 150 6.4
| FMA31.75 -045 | (=) 270303 3 45 - a1
| .075 |15702 | 270304 3175 | 75 | 60 24 30| 6 | 127 | 7 | M16 | 40 |23 | 10 | 16 | 49
BT50 ' 4 70
BBT50 | -105 | 15704 | 270305 105 57
i d g 157 45 4.4
(-FMA38.1 045 15706 270306 . | ., 80| — |28 | 34| 6 | 159 | 9 | M20 |50 27 |14 20 |-
| -075 [15708 | 270307 75 56
i d 8 - 45 | 98 :
FMAS08 -045 15710 270308, S 50.8 — |38 36 10 1905 10| M24 | 65| 37 | 14 24 2O
! -075 (15712 | 270309 | 5 75 | 100 6.7
| -FMA47.625-075 (15714 | 270310 | 6 |47.625 | 75 12857 — | — | 38 | — | 254 |125| — - = | =1]1-=1 80
S -2 —HSICISEMIARETY . BRHHR LAFTE. 3326 ORDERING EXAMPLE
2. BBTIESZE4EMRTY . ® @ ) @
3. 0—FK (&) RERBIEEDPESRVRE. FHHEAGMERVET, _ -
4. 0— K A FRIeEKISFHRGEHRTY . | BT30 | FMA ”25'4 035‘
5 0—NK (-) REEHRBIEEPELSLARYRE. BRBERVET,
6. 0— K — RIHMAIIEBRTY. @ MFR Name
NOTE : 1. Please instruct when ordering for thru-the-tool application.
2. BBT shank type is made-to-order. ® GLRZ L G.L. Length

3.CODE (&) The listed products will be made to order as soon as it is out of stock.

4.CODE A The listed products are made-to-order products.

5.CODE (—) The listed products will be discontinued as soon as it is out of stock.
69 6.CODE — The listed products are discontinued.



IEEI7 514 A7—/\BE!

FACE

MILL ARBOR (Type B)

35

W1

g
[1]
D

2C1

i

2C3
oD
0C1

l\

C5
|E G1
2C4

e

BT®-FMB®-L

P> 205 —R)V—3i(#Fva>) Thru -the-tool Coolant Available (Option)

»»> BBTXifix BBT Available

e o2

F

Gt

B

[ I
2C3
oD
oC1

2Cs
—

kil

SEi
oD
2C1

2C4

Ha,
5}
g =3
CODE KEY CLAMP BOLT N/W
MODEL o ger FIG-eDme) L oCt eC3 bt H2 T G T T ke)
. -FMB25.4 -060 (&) N 60 1.3
‘ — N 12654 080 | — 26 — 95| 5 M2 33 23 10 | 12
BT40 ' -FMB38.1 - 060 EA; (A) 2 | 381 28 85 | 28 | 26 | 6 [ 159 9 [M20 | 50 | 27 | 14 | 20 | 26
. -FMB27 -060 (& A 2.3
BBT40 : o N 1 27 o5 80 | — | 26| — 12 | 6 |M12 | 383 | 23 | 10 | 12 33
' -FMB40  -060 (&) (a) 2| 40 |60 |85 |28 | 26| 6 | 16 |85 |M20 | 50 | 27 | 14 | 20 | 26
| -FMB25.4 -045 A A 45 a1
| -090| & A 1 254 |90 80| — | 26| — | 95| 5 |[Mi2 |33 23|10 | 12 | 6.1
| -150| (&) A 150 8.3
| -FMB38.1 -045 & A 45 44
| -075| - A 2 |31 |75 |8 | 28| 26 6 |1569| 9 |M20 | 50 27 | 14 | 20 | 57
| -105| (&) A 105 7.0
' -FMB38.1F - 075| (&) A 3|31 [ 75 11028 | 26| 6 |159| 9 |[M20 | 50 | 27 | 14 | 20 | 66
BT50 ' -FMB27 -045| (&) A 45 4.1
EEE0 -090 & () | 1| 271 '90|8 | — | 26| — | 12 | 6 M2 33|23 |10 | 12 59
; -150| (&) A 150 8.3
' -FMB40 -045| - (&) 45 4.4
: -075| () (a) 2| 40 |75 |85 |28 | 26| 6 | 16 |85 |M20 | 50 27 | 14 | 20 | 57
: -105| — (&) 105 71
' FMB4OF -075 & A 3| 40 |75 110 28 | 26 | 6 | 16 |85 |M20 | 50 | 27 | 14 | 20 | 67
" _FMB60 -075| (&) (&) 4| 60 |75 [140] — | 25| — |254 (125 — | — | — | — | — | 85
=1L YZREIny
2 EBTE%;E)E??; H HEEASR GRS, BHHIRERYET T T ’ r
13-k A RENBERAMSECTT. | BT40 |-| FMB | 25.4]-{060|
5.0—NK (=) REHRIEEIBRLBRYRE. BRAEEKRVET,
6. 0—F — RIEHRRBIIEBRTY. @ IRy Name
NOTE : 1. For Sandvik cutters.
2. BBT shank type is made-to-order. @ GLRE L G.L. Length

3.CODE (&) The listed products will be made to order as soon as it is out of stock.

4,CODE A The listed products are made-to-
5.CODE (—) The listed products will be discontinued as soon as it is out of stock.

order products.

6.CODE — Thelisted products are discontinued.

70

BT series



AN TFERISA A 7—/\CEY BT®-FMC®-L

FACE MILL ARBOR (Type C) »>> 225 —2 V335 (#7vav) Thru-the-tool Coolant Available (Option)

u9)
-
g L H
= [ FIG.2 ] K
m —]
(] N y 8
Kl
Zfl ORDERING EXAMPLE M \
@ o) ® @ ‘/ il
| BT40 |-| FMC | 25.4|- 060 | % %]% | ® | s
- @O Y2 UYAX  ShankSize |\ [
@ FEFR Name I\ ‘
- @®@Avo—@&eD oD TAn A
@ GLRE L G.L. Length
MODEL T CODEBBT Fig  oD(he) L 2C H K i Cé_élfl‘lrp ?:(/gvy
srso . FMC16 -045 A (2) . 16 34 17 s 8 M8 x 251 0.6
BBTSO . FMC22 -045 | 200730 | 201010 22 45 45 18 10 M10 X 30L 0.7
' -FMC27 -045 A A 2 27 70 20 6 12 M12x35L 1.1
" -FMC25.4-060 A A 60 2.0
. 105 N o~ 25.4 105 70 20 5 9.5 M12x 35L 51
. -FMC38.1-060 () () 38.1 60 85 22 7 15.9 M16 X 40L 25
. -FMC22 -060 | 12720 | 240333 60 1.5
BaTaD : 08 | 15755 |s40534| | 22 105 45 18 5 10 M10x30L 57—
' -FMC27 -060 (~) (~) 60 2.0
| 105 N - 27 105 70 20 6 12 M12x35L
. -FMC32 -060 (~) (~) 32 60 85 22 7 14 M16 x 40L 2.4
. -FMC25.4-045 (~) (~) 45 4.0
! -090 = (~) 254 90 70 20 5 9.5 M12x 35L 5.4
. -150 A () 150 7.2
' -FMC38.1-045 (~) (~) 45 4.2
| -075 [7N) A 38.1 75 85 22 7 15.9 M16 X 40L 56
| -105 () PN 105 6.9
. -FMC22 -060 (—) (~) 60 4.1
BTSO | -105 | 15720 | 270342 | 1 22 105 45 18 5 10 M10 % 30L 46
BBTSO -150 | 15722 | 270343 150 5.2
" -FMC27 -045 A A 45 4.0
| -090 = () 27 90 70 20 6 12 M12x35L 54
. -150 = [N 150 72
| -FMC32 -045 (=) (a) 45 4.2
! -075 (—) () 32 75 85 22 7 14 M16 x 40L 5.0
: -105 = (~) 105 6.8
LYY REYVY, OBy 4A

=N
2. BBTIZZF%EEMTT
3. 30— K (&) REHBRAEBEDPESRYRE, HHASREBVET,
4. 0—K A REHBIIFHFAEHRTT.
5.0—NK (-) REHBRBEED G BVRE, BRHELVET,
6. 0—K — REHBIIELRMTT.
NOTE : 1. For Sandvik and Seco cutters.
2. BBT shank type is made-to-order.
3.CODE (&) The listed products will be made to order as soon as it is out of stock.
4.CODE A The listed products are made-to-order products.
5.CODE (—) The listed products will be discontinued as soon as it is out of stock.
6.CODE — The listed products are discontinued.

71



IFH754AX7—/\HEY BT®-FMH®-6-L

FACE MILL ARBOR (Type H)
[ FIG.1 ] Lt ,.H [ FIG.2 ] L H
Ki ki
W Wi
1 Tt | o)
= = R S Ao =t -
——— e e S =@ ——————— e oS {3 -
0 L”'”f‘Z’ z b== /
\7,, L = \,,,,
wail (wailll |
= T )
CODE ”
MODEL gr PE. FIG. ©D(E) L ®C1 H Wi K1 G #ER
"FMH16  -29 -35 | 10014 201030 16 | 35 29 16| 8 5 3-02
LIS 37 -35 | 10016 201032 16 | a5 | a7 |16 8 | 5  M8*30 | popoie
"EMH22 47 -40 10018 201034 | 2 | 22 | 40 | 47 | 18| 10 | 5 | M10x30 | 3-63 P.CD.016
CFMH16  -29 -60 | 11940 240800 60
5 1105 | 11942 240802 16 405 29 |16 8 | 5 | M8x30 3-02
CFMH16  -37 -60 | 11944 240804 60 PCD.¢12
5 1105 | 11946 240806 16 405 37 |16 8 | 5 | M8x30
BT40 EMH22  -47 -60 | 11948 240808 60
BBT40 | 105 | 11950 | 240810 5 | 105 47 | 18110 1 5 | M10x30 3-03
CFMH22  -60 -60 | 11952 240812 60 P.CD.¢16
; 105 | 11954 240814 105 | 60 1810 | 5 | M10x30
CFMH27  -60 -60 | 11956 240816 60 3-035
z 1105 | 11958 240818 27 45| 60 |20 121 6 | MI2X35 | L, oh 5105
FMH16  -29 -60 | 14540 270940 60
' 105 | 14541 270941 105 | 29
: 150 | 14542 | 270942 150 302
CFMH16  -37 -60 | 14543 270943 16 | 60 16 8 5 -
' 105 | 14544 270944 105 | o Mg 30 PCD.012
150 | 14545 270945 150
; 2200 | 14546 270946 200
CEMH22 47 -60 | 14547 270947 60
' 1105 | 14548 270948 105
150 | 14549 270949 150 | 47
2200 | 14550 270950 200
; 2250 | 14551 270951 250 3-03
CFMH22 60 -60 | 14552 270952 22 g0 18110 | 5 1 MI0X30 | o y16
' 105 | 14553 270953 105
150 | 14554 270954 150 | 60
2200 | 14555 270955 200
; 2250 | 14556 270956 250
FMH25.4 60 -60 | 14557 270957 60 50aE
BT50 1105 | 14558 270958 254 | 105 | 60 |22 95 5 bon s
BBT50 150 | 14559 270959 150 C.D.o18.
CFMH27 60 -60 | 14560 270960 60
= 1105 | 14561 270961 105
150 | 14562 270962 150 | 60
200 | 14563 270963 200 M12x 35
: 2250 | 14564 270964 r | 250 20| 12| & 3-035
"FMH27 76 -60 | 14565 270965 60 PCD.0195
' 1105 | 14566 270966 105
1150 | 14567 270967 150 | 76
2200 | 14568 270968 200
: 2250 | 14569 270969 250
"FMH31.75 -76 -60 | 14570 270970 60
‘ 1105 | 14571 270971 105
150 | 14572 270972 150 | 76
200 | 14573 270973 200 M16x 35 304
: 2250 | 14574 270974 3175 580 80 127 7 P.CD. 024
"FMH31.75 -96 -60 | 14575 270975 60
‘ 1105 | 14576 270976 105 | 96
; 150 | 14577 270977 150
AL HERN=HEHY BT 14 AINT—INTT, T3E3761 ORDERING EXAMPLE

2. 7y BFHRFIAI 7> 7RIV MIHFBLTOET,

3. B M12.M16) DT 5> 7RIV hHEE LRSS, (Dl:@' __

527K - YBRBBU EEL,
P.86(0Y 5> 7RI MR(IMBH-M12.M16) & U BIR BBV £ &L T

4. BBTIESZE4EEMRTY . @ IEFR Holder's Name
NOTE : 1. Face Mill Arbor for cutters with OH hole. ® 4 >O—& oD oD

2. Clamp bolt for fastening cutter is included. @ BAfE oCl oC1

3.When included clamp bolt (M12, M16) does not fit, please choose suitable ® GLRE L G.L. Length

MBH-M12, M16 bolt from the clamp bolt list on page 86
4. BBT shank type is made-to-order.

BT series



